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SANT NIRANKARI PUBLIC SCHOOL, TILAK NAGAR
SESSION: 2019-20

CLASS: II
SUB: MATHEMATICS
WORKSHEET
Fill in the blanks:-
12-4 =
24.6 =
14- =7
ACA
Count the squares oooooo =
EX R
. Count the diamond =
. The length of a table= (m/cm)
The length of a pen = (m/cm)

Weight of a child=____(kg/g)

. Write the division fact:-

Multiplication fact Division fact
2X7 =14
4x5 = 20
ox3 =15
X6 =42
6Xx6 = 36




3. Divide using repeated subtraction:-
a) 18+6=

b) 25+5=

4. Divide using the number line:-
a) 18+3=

b) 20+4=

5. Do sums:-

a) 24+4=



Quotient=

b) 357

Quotient=

C) 20»5=

Quotient=

d) 81»9=

Quotient=



6. Complete the series:-

a)99 88 77 66

b) 100 90 80 70

)2 4 8 16

d) ABC XYZ BCD WXY

e)A5 B10 Ci15 D20

7. Fill in the blanks:-

a) bm= cm

b) 3m= cm

c) 6m 40cm= cm
d) 2m 30cm= cm
e) 6litres= ml

f) 4litres= ml

8. Addition and subtraction:-

a) 53cm b) 55cm
+24cm +36cm

d) 56cm e) 95cm
“33cm 69cm

c) 25g
+48 g

) 32kg
-15kg

9. In your class all children are wearing shoes. Each one has a

different shoe size.
Shoe size

12

1

2

Number of children
10
14

3

a) How many children have 2 as the shoe size?



b) Which shoe size is most common?

c) How many children have 12 as the shoe size?

10. Circle the correct fraction:-

a)

b) 121
4 42

c)

11. Colour to show the given fraction.
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12. Complete the dodging tables.

a. 2X6=

b. 3x5=

c. 5x4=

d. 7x7=

e. 9x8=

f. 8x7=

13. Matching:-
a) 12x5 36
b) 4x7 40
C) 6x6 21
d) 8x5 60
e) 7x3 28

14. Soma bought 35 pencils. She put them equally in 5
packets. How many pencils are there in each packet?

Answer : Each packet has pencils.

15. The shopkeeper packs 6 pencils in one box. How many
pencils will be required to pack 5 such boxes?




Answer: pencils will be required.

16. Rita has 2 ribbons of lengths 42cm and 49cm. what is the
total lengths of the two ribbons?

Answer : The total length of the 2 ribbons is cm.




